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QUESTION 1

An administrator is asked to create a new network segment in VMware Cloud on AWS. This network segment should be
accessible from the on-premises data center. How would the administrator create this new network and what segment
type should it be? 

A. Connect to the on-premises VMware vCenter Server and create the network segment through the VMware vSphere
user interface. Select the stretched network segment type. 

B. Connect to the VMware Cloud console to create the network segment. Select the routed network segment type. 

C. Connect to the VMware Cloud console to create the network segment. Select the extended network segment type. 

D. Connect to the VMware Cloud on AWS vCenter Server and create the network segment through the VMware
vSphere user interface. Select the routed network segment type. 

Correct Answer: C 

 

 

QUESTION 2

An administrator runs an analysis on all workloads using Live Optics and confirms there are a variety of applications,
including Microsoft SQL server and Oracle databases. The Microsoft SQL workloads are averaging 4,000 IOPS per
virtual machine, approximately 50% writes. The Oracle workloads are averaging 3,000 IOPS per virtual machine, and
approximately 80% writes. Which method should be used to input the data into the VMware Cloud on AWS Sizer for the
most accurate results? 

A. Use the Advanced Sizer in \\'database\\' mode. Create workload profiles for the analyzed virtual machines, including
profiles for Microsoft SQL and Oracle. Set the values for vCPU, vRAM, utilized storage, IOPS and I/O profile manually. 

B. Use the Quick Sizer. Set the values for vCPU, vRAM, utilized storage, IOPS and I/O profile manually. 

C. Use the Advanced Sizer in \\'import\\' mode. Import the Live Optics data and let the Advanced Sizer set the values for
vCPU, vRAM, utilized storage, IOPS and I/O automatically. 

D. Use the Advanced Sizer in \\'manual\\' mode. Create workload profiles for the analyzed virtual machines, including
profiles for Microsoft SQL and Oracle. Use the default values for the SQL and Oracle workload profiles. 

Correct Answer: D 

 

QUESTION 3

An architect is designing a company\\'s hybrid cloud environment. Traffic between their local data center and VMC on
AWS software-defined data center (SDDC) requires a high-speed, low latency connection. The connection type should
also support connectivity to services currently being consumed in AWS. Which connection type will meet these
requirements? 

A. Multiprotocol Label Switching (MPLS) 

B. AWS Direct Connect 
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C. Four IPSec tunnels for greater bandwidth and resiliency 

D. Route-based VPN 

Correct Answer: B 

 

QUESTION 4

An administrator would like their VMware Cloud on AWS software-defined data center (SDDC) cluster to scale down a
host when CPU utilization drops below 60%. Which Elastic DRS policy should be selected? 

A. Optimize for Lowest Cost 

B. Optimize for Best Performance 

C. Default Storage Scale-Out 

D. Optimize for Rapid Scale-Out 

Correct Answer: A 

 

QUESTION 5

An administrator is reducing a five-node cluster down to four. What happens to all virtual machines (VMs) when a host is
removed from a cluster? 

A. All VMs on the host being removed are deleted. 

B. All VMs are powered off. 

C. All VMs are migrated from the host. 

D. All VMs are unregistered from VMware vCenter. 

Correct Answer: C 
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